Fx ] FHX kM F
| 9/13 1.1 %2 BA5(1hr)
9/15 |® # & (2% igp)
) 9/20 |1.2= se 2T 5 w s ; & S 8(lhr)
9/22 |1.3% @ #(2hr)
9/27 |1.4:8 4§ S48 (1.4.1~1.4.3)(2hr)
3 1. 438§ S 40 (1.4.1~1. 4. 3)(2hr)
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Quiz 1: 1.1 ~ 1.3
A 10/4 1.5 e£2 p 2R 448<(2hr)
10/6  |2. 1% & #<(2.1.1~2.1.5)(5hr)
10/11 2. 1% S09<(2.1.1~2. 1.5)(5hr)
5 2. 1% 3 #(2. 1. 1~2. 1. 5)(5hr)
10713 Quiz 2: 1.4~1.5
10/18 2. 2= 51 %38 (2hr)
6 2.2 5 %32 (2hr)
0720 19 50, o st 18 25 (1)
10/25 |2. 4/ * & it S 8B (2.4.1~2.4.2)(3hr)
T o9 [24" 45 38R (2.4.1-2.4.2)(3hr)
Quiz 3: 2.1~2.3
o 11/1 |2. 5#cA chfis * —% 4 it (3hr)
11/3 2. 5#cA chfis * —& 4 it (3hr)
g 11/8 |Q & A
11/10 v d @1l ~ 25
11/15 |4k #3%- =
0 [ 7 [31sams &8 e aggas (3.1.1-3. 1. 2)(Thr)
3. QA A B & %3 (2hr)
11/22 |3. 284t A~ & & 232 (2hr)
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FH 2L
1o | 11729 [3.3% #4f & 4£57(3.3.1-3.3 4)(Thr)
12/1 3.3 4 4~ $#759(3.3.1~3.3. 4)(Thr)
12/6 _13.3% 4 4 $37(3.3.1-3.3. 4 (Thr)
13 15 [B3AR4EA#57(3.3.1-3.3. 4)(Thr)
Quiz 4: 3.1~3.3.3
14 |12/18 [3. 44 4 (3.4.1-3.4.2) (3hr)
12/15 3. 448~ e * (3.4.1~3.4.2) (3hr)
12/20 J4. 12 Al ehb) 3 0 8 v sk 4= (2hr)
15 | g /99 |4 15 3lerbls  j# s sdicgtae (2hr)
4.2% % %32 (lhr)
12/27 4. 3% * @ #cehz # B 2 (4. 3. 1~4. 3. 2)(3hr)
16 [ 1509 4.3% * S #cehd $ 8 2 (4.3.1-4.3.2)(3hr)
Quiz 5: 3.4~4.3
7 1/3 443 ¥ % (4.4.2)(3hr)
1/5 |4.42 $» %32 5 * (4.4.2)(3hr)
A ISVIT & A
1/12 it #H:3.1 ~ 4.4




